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All questions are compulsory.
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Question Nos. 1 to 5 are very short answer type questions. Each

question carries 1 mark. Answer should be given in / word or /
sentence.

T SHHIH 6 W 10 Th Todsh U¥1 W 2 3o Taifed € | (Tss-THT 30 912
Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)

T AT 11 9 22 T e Y94 T 3 37 Teifed € | (IR-HHT 50 92
Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
T ShHIh 23 W 4 3k 3TEifed © | (IK-HH 70 1)

Question No. 23 carries 4 marks. (Word-limit 70 words)

U ShAIH 24 § 26 T TS U W 5 ik eyEfed ¥ 1 (w-HH
700 %)

Question Nos. 24 to 26 carry 5 marks each. (Word-limit 700 words)
&I SATaYTeh B, 9’1 = d THifehd = o1 |

Draw clean and labelled diagram wherever necessary.
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What is Coagulation?

fipfen srfufsran =1 Svaa Tt fafeT)

Write only equation for Fittig reaction.

TehIid Ua AT sidt B foer g1 € 1 /i ?
Alcohol and phenol are soluble in water. Why?

NN LN
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Draw structural formula of 3-chlorohexanoic acid.

SRR IR AT Bt § ?

What is reducing sugar?

2.82 UTH TeehlSt ( 3Tk S8 = 180) 30 I wet H S[elt § | 39 foerem

i HieTeld J1d hifsTg |
2.82 gm of glucose (Molecular Mass = 180) is dissolved in 30 gm of

water. Calculate molarity of the solution.

o o o [aWa

frfafaa sIfyfshan it sToreeaar W stfufshan st whife I wifvT :

CH,COOCH;, + H,0 — CH;COOH + CH;0H

Find the molecularity and order of reaction of the following reaction :

CH,COOCH;, + H,0 — CH;COOH + CH;0H

TS WA B € | 7 2

Why halogens are coloured?

BIRET sHTse Tfafsran sl THieRtor Tfed THmET |

Explain Hoffmann bromamide reaction with equation.
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U9T-10 WA THH 1 FaUHIH Jaiash THH 9 3Tfeeh g1 € | 3 2 [2]
Why do primary amines have higher boiling point than tertiary
amines?

Y9A-11  FaYHIH § S99 379 1 GHA & 2 U i GerFal  THET | [1+2=3]
What do you mean by elevation in boiling point? Explain with
the help of graph.

yoa-12 ot stfufsran <61 o 9w R forg weeR R ® 2 wmEmsT [3]
Explain the dependence of rate of reaction on temperature.

yo-13 e W fewfoe fafa [1%+1%=3]
CHREIEEIRIT]
(&) hIZE! 1 &I
Write notes on :
(@) Brownian movement
(b) Protection of colloids

U9A-14  3TIEH o WX i Toead JUaFhiul fafy sl T | [3]
Explain gravity separation method for the concentration of ore.

Y9A-15  SANIH Yot SRR & | TR THeR0 g T Hife | [2+1=3]
Ozone is a strong oxidizing agent. Explain with chemical equation.

Y9T-16 179 HHE <k dcdi o T U ki SR SHIfST [1Y5+1Y=3]
(37) SHATRHTRTOT STeTe
(&) SROTfereaT
Explain the following properties of elements of 17th group :
(a) Oxidation state
(b) Electronegativity
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[NiCl,]*~ ST 14 &, Selfeh [Ni(CO),] Ffagr=enta ¢ | & ? [1%4+1%%=3]

[NiCl4]2* is paramagnetic while [Ni(CO),] is diamagnetic. Why?

DDT &t E= 1, [UPAC - a1 Teh S99 fafaw | [1+1+1=3]

Write the structure, IUPAC name and one use of DDT.

[ S

hael ET(eh TR fafE [172+11=3]

(37) FHA § fRATet s

() TrAra 9 fafere 217 IMT

Write only chemical equation :
(a) Preparation of phenol from cumene

(b) Preparation of picric acid from phenol

foerfam A den foerfim C guR fore =i emmawas € 2 9% Aoyl &
fafeT | [1V5+1%=3]

Why vitamin A and vitamin C are essential to us? Write their important

sources.

THIATE S Ta HHET Igateh H g i 3Ta T Sl | [1+1+1=3]

Write any three differences between thermoplastic and thermosetting

polymer.

qfIeht qen HehHuRit fohe yehR fi= € 2 TmemEn [1V4+1%=3]
How do antiseptics differ from disinfectants? Explain.

o o o

feAfefad @l 99emEy [2+2=4]

(37) wreghe
(9) AIgHd
Explain the following :

(a) Ferromagnetism

(b) Paramagnetism
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Explain the following :

(a) Tetrahedral voids

(b) Doping

U9A-24  GohHUl Al i FHMA Soiaei-eh fa-amd odid g S9oh %1 TOI Rl
HHEART ¢ [1+2+2=5]
(37) IR
() ST T

Write general electronic configuration of transition elements and

explain their following properties :
(a) Magnetic property

(b) Catalytic property

HY4qr
OR
TR SRHHE oM &1 fafy 1 gu[ Hifse qen 39! fF=farad &
1 3T FHIR0T ST
(37) I
(@) H,S

Explain preparation of potassium dichromate and write its ionic

equation with the following :
(a) Iron

(b) H,S
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(37) TMeEA-%= Tfafsma

(&) A Afyfehan
(T) UsTHUe Afufshan
(3) Teeid Ho
(8) HATSRY Afafsham

Explain the following (write only chemical equation) :

(a)
(b)
(c)
(d)
(e)

Gattermann-Koch reaction
Stephen’s reaction
Rosenmund reaction
Aldol condensation
Cannizzaro reaction
31t

OR

F1 EIA1 8, 59 (hael T (e THier fafgn) 72—
(37 fimre sifverses =1 fofan CO, © it STt §
(&) Eifdfersh ST i fohdl Teshiglial | &t S §
(g) uHiefeeegee &t fwar HCN @ &l Sl &

(3) TeSRTREE H a1 NaHSO, & &I it @

(3) ufafess stt =i f5han Na o1 9 &1 St ®

What happens when (write only chemical equation)?—

(a)
(b)
(©)
(d)
(e)

Grignard reagent is treated with CO,
Carboxylic acid reacts with alcohol
Acetaldehyde reacts with HCN
Aldehyde reacts with NaHSO,

Acetic acid reacts with Na metal

[1+1+1+1+1=5]
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YPI-26 HHS TRSISH HaIS 1 § 2 Gfad auiF shifer | [1+2+2=5]
What is standard hydrogen electrode? Explain with diagram.
HY4ar
OR
forgga- T tTes ¥ 1 § 2 gaeht foranfafy fesr wfea wmsmew

What is electrochemical cell? Explain its working with the

help of diagram.
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